IF IN DOUBT, ASK

200 DO NOT SCALE -

100

20 30 40 50

10

ORIGINAL SIZE Ad

2000 2000 3000 3000 3000 3000 2000 3150
0 0
gl 7] 6| 5| 4] 3| 2] 1 '
= C |
9 [0 11 [z [13 [ [15 [t ‘
| DECK i
R
150 4950 100
,
‘ —————GMS FABRICATED DRAINAGE
TRAY TO DOOR THRESHOLD.
STAINLESS STEEL BENCH SALVAGED
FROM EXISTING HUT TO BE REUSED IN ‘
WARDENS QUARTERS
STEP -
N \ \ \
A oy — 7 — i — i — i | 1 . T | — — i —— i — I — —
Ny ! ! | N s I ! !
| ‘ | | BENCH SEATING o ' ' o BENCH %EAT'NG BENCH SEATING | |
| | if 5 | | =
| WARDEN | (oos) | E — o 1
s | SOUND BATTS INSULATION T0| I ENTRY 2 | |
8 INTERNAL WALLS AROUND . S ALLMINIG —
_ | WARDENS QUARTERS | il -CKER PL | | DECK g
z | DOUBLE BUNK | | TOENTRY.F | | | 2 R
L = =
=N | | | I
S | | | ‘DINING | 2
< i z
B [ [ | | | @
g S~ T T 11 T
| JOINERY 2 | JOINERY 3 | | | S00mm WIDE WES FORGE
° \ } \ } \ \ GRATING.
B) & - - . f— — - L H A - -
" = < 12000900 3mm ALUMIN‘UM | , | X o J L —+ | GMS FABRICATED DRAINAGE
1 ]2 |3 [u |5 |6 |71 |8 gl CHECKER PLATE PANELS To | L | § | TRAY TO DOOR THRESHOLD.
ENTRY DOORS
- == = = = oRS o oo A R —_—— — — — D #_.__.__ _
GMS FABRICATED DRAINAGE | | | ‘ | 2 1200x300 3mm ALUMINIUM
- | | | : | ENTRY DOORS o _
g SLEEPING PLATFORM SLEEPING PLATFORM =
— 8 ‘
BUNKROOM 1 | BUNKROOM 2 = | :
m
SINK) | J(SIN
| | | | | | | COOKING || CdokING
& & & & S| = = |
3 3 3 3 3 S = 0o SKED
4 4 4 % 4 4 | RETQTANKS O RATSED
= = z z = =
= = = | =] JOINERY & =] JOINERY 5 |
C e @ @ | = — —— —— — I e — — I — I — — —— il _—
50 6050 L | 4800 L 3425 L 3425 5(@@
1 ' i 1
‘ 18300
1 1:50
NOTE
ALL INTERNALL DOORS TO SOLID CORE
TIMBER DOORS IN EX 40mm ARCHIFRAMES
WITH 30x20 PLANTED STOPS
@ @ @ @ @ @ @ ’ CONICAL WEATHER HO0D 550
FLOOR INLET BOX BENEATH \ oY UNITS IN BUNKROOMS = 525
THROUGH FLOORING AND JOSTS 8] U OG Roos - 106
- e 550x250 FLAT BAR GRILLE WITH
ST g UNITS UNDER KITCHEN BENCHES = 350 LT NG T CoveR
e FLAPS.
A B _ _ _ _ _ _ _ _ _ B 125 125
Zl OPEN ENDED 300mm # ]
2/300mm @ EXHAUST VENTS IN EACH END - VERTICALRISER —————— 1% |
OF HUT. ALL HAVE MAUALLY OPERATED - |
SPRING LOADED SHUT OFF DAMPERS 5 ¢ty < E/T)-__Q;\ g | g
2/300mm @ EXHAUST VENTS IN EACH END
o OF HUT. ALL HAVE MAUALLY OPERATED J
N SPRING LOADED SHUT OFF DAMPERS 20 30 0 —— o
B W DROP BETWEEN FLOOR
A | JOISTS TO FINISH FLUSH -
= : N - WITH EXTERIOR CLADDING —————{—> &
. R—— - \
] B [\_L‘.@ . Ai | g
| /
‘ ‘ TN TN L \‘ i - R — ‘\\
. 350
]ZT %[ 500mm SQ WALL FM EE’EXENGDAUGE MESH AT
C _ — IL — — — = — _ FLASHING PLATE B
|
v

. |
| (=}
| (=)
4 FLOOR INLET BOXES BENEATH 300mm @ EXTENSION DUCTING Slzth?gQQTTLEEJEinREESAINeoo 50 J A
BUNKS. ( 2 IN EACH BUNKROOM). THROUGH BUNKROOM AREAS. DROP OUCTS THROUGH
| 350x350 DROP DUCTS THROUGH | FIT2 SPRING LOADED DAMPERS

FLOORING AND JOISTS

FLOORING AND JOISTS ‘ 700 L 300 L ['. FLOOR BOXES

1:10

NOTE ALL ITEMS EX FACTORY.

FLOOR BOXES AND'EXHAUST VENTS SUPPLIED  GALVANISED IRON CONSTRUCTION.

EX FACTORY. CATCHES FOR GRILLE SHUTTERS, ~ SPOT PRIMED WHERE NECESSARY BUT

DROP CHAINS AND WALL HOOKS FOR SPRING GENERALLY IN UNPAINTED CONDITION. 3 W A L L 0 U T L E T c 0 W L S
LOADED DAMPERS ALL SUPPLIED BY MAIN 1:20

PROPOSED VENTILATION PLAN Ny  WALL NOUNTED COML UNTS AT 60kg EACH

2 1:100 DUCTING SUPPORTS AND INSTALLATION BY 10 EXTENSION DUCT UNITS AT 13kg EACH.
MAIN CONTRACTOR 8 FLOOR INLET BOXES AT 40kg EACH.

PP RICH T ey o e T 1 MUELLER HUT REPLACEMENT, MT COO “ AS BUILT

ome oo e st “» 19.09.2003
SURVEYED WARBURTON PO Box 125, Do @ MWH DEPARTMENT OF CONSERVATION SCALES : 1:100, 1:50, 1:20, 1:10

Teleph 03 474 1825,
DESIGNED WTA DEC Facaimile 03 479 2311 CAD REF :
DRAWN PT FEB 200 TEAM RCHITECTURE Email warbarch@xtra.co.nz MONTGOMERY WATSON HARZA b No Sheet No

checxeD PROPOSED PLAN 0133 AQO1

REV AMENDMENTS DATE | INITIAL



— IF IN DOUBT, ASK

200 DO NOT SCALE

150
|

100
|

20 30 40 50

10

Ad

ORIGINAL SIZE

150x50 PURLINS @600 crs CUT
BETWEEN TRUSSES. FIXED TO
TRUSSES WITH JOIST HANGERS

COLOUR COATED PROFILED
CLADDING OVER 7.5mm CPD PLY

TO CEILING

R3.6 BATTS INSULATION

COLOUR COATED PROFILED
METAL CLADDING ON 7.5mm CPD
PLY SARKING —_—

REFER TO SHEET A003
FOR DETAILS OF TANK
PLATFORM

C B

CRIMP CURVED

A

RADIUS TO EA>
\_

I FABRICATED DUCTING EXHAUST
REFER TO SPECIFICATION FOR
PAINTING DETAILS

THERMALLY BROKEN ALUMINIUM
WINDOWS POWDER COATED IN
SELECTED COLOUR

50x50 BALUSTERS @150 crs

//\\ T _'<
OO [ N
s mEEd SRR R

REFER TO STRUCTURAL
DRAWINGS FOR DETAILS ON

SUB-FLOOR STRUCTURE

/ 50x50 BALUSTERS @150
crs FIXED TO RAILS

~

1 DucT DUCT
A00
K— ALL INTERNAL LININGS
THERMALLY BROKEN ALUMINIUM TO BE 7.5mm BD PLY
WINDOWS POWDER COATED IN
SELECTED COLOUR L
6 SLEEPING PLATFORM 1
A00A S i 100x50 TOP AND
~ X
150x50 FRAMING TO EXTERNAL 7 _ ~ EX 50mm THICK MACROCARPA BOTTOM RAIL BOLTED
WALLS. DWANGS AT 900crs I = TG FLOORING GN 150x50 JOISITS TO PFC STRUTS
VERTICALLY.
@400 crs

SLEEPING PLATFORM ﬂ
R3.0 BATTS INSULATION
et AL BUNKROOM 2 ENTRY Iy
WALLS — — 7 — — — — —

; L L e M@W%?MWM@W%?MWM@WMWMN?M

? \_H—= S
REFER TO STRUCTURAL

DRAWINGS FOR DETAILS ON _—
SUB-FLOOR FRAMING ‘

\* R3.6 BATTS INSULATION

TO FLOOR

\ GROUND LINE
APPROXIMATE ONLY

SECTION A-A

1 1:50

REFER TO STRUCTURAL
DRAWINGS FOR FOOTING
DETAILS.

® @O O

COLOUR COATED PROFILED
CLADDING OVER 7.5mm CPD PLY

f150x50 PURLINS @600 crs CUT
BETWEEN TRUSSES. FIXED TO

TRUSSES WITH JOIST HANGERS

M12 THREADED ROD REFER
TO STRUCTURAL

DRAWINGS —EX 40mm THICK H3

TREATED PINU RADIATA
DECKING ON 200x50
JOISTS @400 crs

JOISTS FIXED TO TIMBER
STRINGER WITH JOIST
HANGERS

COLOUR COATED PROFILED

PLY SARKING

METAL CLADDING ON 7.5mm CPD | |

GROUND LINE
APPROXIMATE ONLY

Pp-<

NORTH ELEVATION

3 1:100

W ®

CRIMP CURVED
RADIUS TO EAVES

(]

L

GROUND LINE

APPROXIMATE ONLY

SOUTHELEVAT

ION

1:100

1 I A P

1 A P XX

CRIMP CURVED
RADIUS TO EAVES |

THERMALLY BROKEN ALUMINIUM L
WINDOWS POWDER COATED IN VAN
SELECTED COLOUR \

COLOUR COATED PROFILED
METAL CLADDING ON 7.5mm CPD
PLY SARKING

THERMALLY BROKEN ALUMINIUM
WINDOWS POWDER COATED IN

ALUMINIUM DRIP
CHANNEL ABOVE
DOOR

CRIMP CURVED
RADIUS TO EAVES

THERMALLY BROKEN ALUMINIUM

WEST ELEVATION

L

1:100

SELECTED COLOUR o /A i b 0s il ¢
== ! I : ool _1f| | [lwoslt_1 T WINDOWS POWDER COATED IN
== : . I A [T SELECIED COLOUR
—| ! ‘.HH%*\HWH\HH* M\HWHH% %HHWH\HH*WQ—'# QE@E%\ 00 o

T T

. u N J L} I. _||_\_l > =
REFER TO ||
STRUCTURAL \ — \\
DRAWINGS FOR /<
DETAILS ON i

|  SUB-FLOOR \ 9 ,—l_'— \ \"/ -
STRUCTURE > i
o | P
i —_—
GROUND LINE
- B APPROXIMATE ONLY

FABRICATED DUCTING EXHAUST
REFER TO SPECIFICATION FOR
PAINTING DETAILS

COLOUR COATED SPOUTING WITH
SNOW STRAPS @500 crs
DRAINING TO WATER TANKS

_E%T@j

GROUND LINE
APPROXIMATE ONLY

EAST ELEVATION

6 1:100

COLOUR COATED VERGE
FLASHING.

BITUMAS IMPREGNATED FOAM
PACKER UNDER ALL JOINTS AND

—

—

100x50 TOP AND BOTTOM RAILS
BOLTED TO PFC STRUTS.
50x50 BALUSTERS @150 crs

o B

MUELLER RHUT REPLACEMENT, MT COO
DEPARTMENT OF CONSERVATION

FLASHINGS
R3.0 BATTS INSULATION
TO ALL EXTERNAL ‘ 7.5mm CPD PLY ON 150x50 ‘ ‘
WALLS ;g'ZLng?SG ?OSCJLSAHON To & TYPICAL WALL EXHAUST VENT,
= ey = BRACKETS AND SPRING LOADED
s — — — — — - — 7 — — I — i — — i S = DAMPER.
150x50 FRAMING TO EXTERNAL A W16 L]
, 4 OF TOTAL
WALLS. DWANGS AT 900crs —F— — — — — ———ﬂx—— _ A — — — + — — 1 . — =
VERTICALLY.
s S A | HIGH LEVEL BUNKROOM DU i i
WITH 2 SPRING LOADED DAMPER ?
i Al 24 OUTLETS _@# T
COLOUR COATED SANDWHICH ﬂ’ ‘ ‘ \F A00L
PANEL DOOR AS DETAILED — = | ———COLOUR COATED SANDWHICH
S PANEL DOOR AS DETAILED
R &
| 4004/ 200
EX 100x30 MACROCARPA T&G _ ik
r =]
EX 40mm THICK H3 TREATED FLOORING ON 200x50 JOISTS
PINUS RADIATA DECKING ON H3 /12 @400 crs 12 EX 40mm THICK H3 I
TREADED JOISTS AND PROFILED puil W W TREATED PINU RADIATA !
STRINGERS. 1im DECKING ON 200x50
TIMBER I CONTACT WITH GROUD A0 | I SN BUNKROOM T I BUNKROOM 2 COOKING AND DINING_* & X L e
TO BE HL TREATED ) ool izl /
N | | A | L ‘\
= =1
4.5mm HARDIFLEX FIXED TO
UNDERSIDE OF FLOOR JOISTS.
PACK WHERE NECESSARY FOR
FIXINGS
/ 7
]
GROUND LINE T————
APPROXIMATE ONLY
L]
\\
SECTION B-B —
1:50
Warburton Team Architecture Ltd. and
COPYRIGH T© Montgomery Watson New Zealand Ltd.
XREFS :
N Dat Warburton Team Architecture Ltd
ame ate 184 High Street, Dunedin
SURVEYED WARBURTON PO Box 1426, Dunedin M w
Telephone 03 474 1825,
DESIGNED WTA DEC 20 Facsimile 03 479 2311
DRAWN PT FEB 200 T E A M R C H I T E C T U R E Email warbarch@xtra.co.nz MONTGOMERY WATSON HARZA
CHECKED SECTIONS/ ELEVATIONS
REV AMENDMENTS DATE | INITIAL] APPROVED

Status
= AS BUILT
ate
= 19.09.2003
SCALES : 1:50, 1:100
CAD REF :
Job No. Sheet No. Rev.

0133 AQQO



— IF IN DOUBT, ASK

200 DO NOT SCALE

150

100

20 30 40 50

10

Ad

ORIGINAL SIZE

10 1550 100 1550 100 1200 100 A
gag&*&%ﬁgg'gﬁow PROFILES STRINGERS SHOWN DOTTED 100x50 RAILS REBATED INTO
N ‘ BELOW 100x100 POSTS. FIXED WITH M12
_ BOLTS
o n n T 7
S a— r—! g 1 : : 7 = CONCRETE FODTINGS g
L ! \__| ! Ll L] SHOWN DOTTED BELOW e V4
e EX 40mm THICK H3 TREATED
L 1 _\ T = PROFILED PINUS RADIATA
?é%ﬁgﬂéiﬂ%gﬁ% %‘:’é}‘(’“ DECKING ON 100x50 JOISTS
o o 7 7 @AOOCFSX
QJ:[L J E L" J ‘ I | [ I[ I[ I[ I[ I[ I[ I[ I[ I[ I[ I[ I[ I [ [ 1[ I[ I[ I[ I[ I[ I[ I[ I[ I[ I[ I[ I[ 10 Il [ [ 1[ 1[ I[ I[ [ I[ I[ JL I[ I[ I[ [
- 1 LED
K 150x150 CLEAT FW TO BASE PLATE.
(=1
2 ‘ APPROXIMATE ‘ I - P DRILL FOR 2/M12 BOLTS. 100x100 BEARERS FIXED TO
B LOCATION OF AN S S I POSTS WITH 2/100x250
REDROCK PRYDA NAIL-ON PLATES. ONE —
A \ EACH SIDE AT EACH END OF
sy /— : : O - S\ BEARER
L \‘ ‘\
%
\‘ (Y L
. +
ROCK ANCHOR. .
200x200x20mm BASE PLATE FIXED TO ?é gg%"flfsgfgfﬂ;s ot
ROCK WITH 2/M16 HIGH TENSILE . 100x100 POST BOLTED TO )
THREADED ROD WITH EPCON INJECTABLE +| STARSTRINGERS WITH
‘ ‘ ‘ G6-18 GROUT. 300mm MIN EMBEDMENT R 2/M12 BOLTS
INTO ROCK.
A A o o o 4,00x400x200 CONCRETE = 400x400x200mm CONCRETE
| G0 TINERIIFR YDA SBK1 FOOTING WITH PRYDA SBK2

STRUCTURAL BRACKET CAST
2 E1!\(£ T R Y D E C K S E C T I 0 N A IN TO TAKE 100x100 POST iligESTTUZQLS?Eﬁ\ICGgQTSTO

ENTRY DECK PLAN 100x100 POST BOLTED TO

1 150 STAIR STRINGERS WITH
' 2/M12 BOLTS

N
10mm @ GALV. CABLE
THREADED THRU HOLES IN
TOP OF TANK.
U 2 HOLD DOWN CABLES PER
5 3350 PAIR OF TANKS
| )
LV 400 &
265 400 oo oo b0 Lo 400 \ 0
N STRINGERS FIXED TO g
- BOUNDARY JOISTS WITH 2 W W W l 1
100x50 RAILS REBATED ) , PRYDA NAIL ON ANGLE.
INTO 100x100 POSTS. STAINLESS STEEL I zoozgchFE SHOWN DOTTED BELOW T
FIXED WITH M12 BOLTS o Vs ‘ g
P |
\—M16 BOLT FIXING TO ! M16 BOLT 6/1000 L SKELLERUP 10mm ¢ GALV CABLE
PINUS RADIATA DECKING ON PFC BELOW —M16 BOLT FIXING TO ; FIXING TO PLATFORM CABLE DOGS
PROFILED STRINGERS PFC BELOW ! PFC BELOW (2 EXISTING
|
|
== | 10mm @ GALV CABLE M12 EYE BOLT WITH
EX 300x50 STRINGERS CUT | WITH EYE AND TURN BUCKLE AND
o T TO PROFILE OF STAIR = ! = CABLE DOGS SHACKLE TO HOLD
! DOWN CABLE
= ! 2 M12 EYE BOLT WITH EX 40mm THICK H3
i oo s s o s o oo s s o | b B S LOCATION OF | a SHACKLE TO HOLD TREATED TIMBER
= WAEER TANKS | = S BOLTFo Th DOWN CABLE DECKING ON JOISTS WATER TANK SUPPORT FRAME
3 SHOWNDOTTED | S| | preeLow g 16 BOLTS, REFER TO PLAN FOR
& = } = W — !Er:'j IL IL || || I[ || I || 1L 1L || || || || 1L 1L 1L IL Il || 1L .
NOTCHED AND BOLTED TO @ ! @ N R
POSTS o i | e —" _ T
a
2 = | S 200x50 JOISTS @400 crs
T ! BOLTED TO CLEATS WITH
! ) aly 2/M12 BOLTS
I w | w [
+ o o a
N 400x400x200 CONCRETE S| S S
\ FOOTING WITH PRYDA SBK1 4 < N
L STRUCTURAL BRACKET CAST |
\ + IN TO TAKE 100x100 POST i M16 BOLT FIXING TO
200 PFC SHOWN DOTTED BELQW ‘ u PFC BELOW C
— F — 4
5oLt FXNG o | ) O)SECTION THRU TANK SUPPORT FRAME
i — s 1:20
‘ 0
,,,,,, A ¢ 20PFC 5 +
ENTRY DECK SECTION B |
|
3 T \ o e 150x100x10 CLEATS FW ‘
' T0 PFC @400 crs. PRILL |
FOR 2/M12 BOLTS [TO ! o
‘ TAKE 200x50 JOISTS ! 2
8 |
| (=]
| Z
:
|
|
|
STEP FABRICATED FROM EX |
40 DECKING ON 100x50 !
SOLID BLOCKING TR
I 1 1
S S N A S
Yoy (ﬁ,
] 1[I 1[I || || || || || Il 1L It = 5 S
300 . ) . 2300 1300
y B N | 1
I —
B STRINGER.FIXED TO 250 PFC
3 = WATER TANK SUPPORT FRAME
- WITH M12 BOLTS @600 crs 5
s A 150x50 JOISTS @400 crs 1:20
EX 40mm THICK H3 TREATED = FIXED TO STRINGER WITH |
PINUS RADIATA DECKING ON 2 JOIST HANGERS
PROFILED STRINGERS
\
e | oy |
o
| 150x150 CLEAT FW TO
w BASE PLATE.
DRILL FOR 2/M12
—— BOLTS.
STRUCTURAL BRACKET T0 EX 300x50 STRINGERS CUT 200x200%20mm BASE PLATE FIXED TO

TO PROFILE OF STAIR AN ROCK WITH 2/M16 HIGH TENSILE |

TAKE STAIR STRINGERS

s THREADED'ROD WITH EPCON INJECTABLE
RN G6-18"GROUT. 300mm MIN EMBEDMENT
S INTO ROCK.

1:20

@ EXIT STAIR AND DECK

PP RIGH T Bt T o ot 1 MUELLER HUT REPLACEMENT, MT COO o AS BUILT

e e e o = 19.09.2003
YARSS R AR @ MWH | ocrarTMENT OF CONSERVATION

Teleph 03 474 1825,
DESIGNED WTA JAN 200 Facaimile 03 479 2311 CAD REF :
DRAWN PT FEB 200 TEAM RCHITECTURE Emall warbarch@xtra.co.nz MONTGOMERY WATSON HARZA b NG Sheet No RV

Chece DECK DETAILS 0133 AQO

REV AMENDMENTS DATE | INITIAL



— IF IN DOUBT, ASK

200 DO NOT SCALE

150
|

100
|

20 30 40 50

10

Ad

ORIGINAL SIZE

COLOUR COATED SPOUTING FIXED TO
WALL WITH SNOW STRAPS @500 crs

50x15 OVERFLOW
SLOTS CUT INTO
SPOUTING @200 crs

COLOUR COATED ZINCALUME

FLASHING FROM BEHIND SPOUTING

AND OVER WINDOW

DOUBLE GLAZED THERMALLY BROKEN

ALUMINIUM WINDOW POWDER COATED
IN SELECTED COLOUR IN Ex 30 H3

TREATED TIMBER REVEAL

LINTELS OVER OPENINGS TO
NZS:3604

CLEAR FINISHED 7.5mm

PLY INTERNAL LININGS ——

CLEAR FINISHED 7.5mm CPD
PLY ON 150x50 FRAMING

COLOUR COATED PROFILED ROOFING
ON 7.5mm CPD PLY ON 150x50 PURLINS
CUT BETWEEN TRUSSES

0

K— 40x12 FINGER

N

DETAIL

EéVES ABOVE WINDOWS

A

— /
-
oo
10t
25

L

DETAIL

IEPIEAL WINDOW HEAD

RAVEN RP46 ANODISED

<

LININGS

———R3.0 BATTS INSULATION TO

EXTERNAL WALLS

COLOUR COATED PROFILED

CLADDING ON 7.5mm CPD PLY

BITUMEN IMPREGNATED

FOAM PACKER

COLOUR COATED
ZINCALUME FLASHING

LINTELS OVER OPENINGS TO NZS:3604

CLEAR FINISHED 7.5mm PLY INTERNAL

DOUBLE GLAZED THERMALLY
BROKEN ALUMINIUM WINDOW
POWDER COATED IN SELECTED
COLOUR IN Ex 30 H3 TREATED
TIMBER REVEAL

COLOUR COATED PROFILED ROOFING
ON 7.5mm CPD PLY ON 150x50 PURLINS

CUT BETWEEN TRUSSES

R3.6 BATTS INSULATION TO ROOF

7.5mm PLY INTERNAL

COLOUR COATED SPOUTING FIXED TO
WALL WITH SNOW STRAPS @500 crs

50x15 OVERFLOW
SLOTS CUT INTO
SPOUTING @200 crs

COLOUR COATED ZINCALUME
FLASHING FROM BEHIND SPOUTING
AND OVER CLADDING

BITUMEN IMPREGNATED FOAM PACKER
TO ALL CLADDING JOINTS AND
FLASHINGS

90

K— 40x12 FINGER

COLOUR COATED ZINCALUME

COLOUR COATED PROFILED ROOFING
ON 7.5mm CPD PLY ON 150x50 PURLINS

CUT BETWEEN TRUSSES

FLASHING OVER ROOFING AND

CLADDING ——

TO ALL CLADDING JOINTS AND
FLASHINGS

COLOUR COATED
ZINCALUME FLASHING

BITUMEN IMPREGNATED
FOAM PACKER

DETAIL

COLOUR COATED PROFILED
CLADDING ON 7.5mm CPD PLY

)

DOUBLE GLAZED THERMALLY BROKEN
ALUMINIUM WINDOW POWDER COATED

IN SELECTED COLOUR IN Ex 30 H3

TREATED TIMBER REVEAL

__——— R3.0 BATTS INSULATION TO

EXTERNAL WALLS

&—— COLOUR COATED PROFILED
CLADDING ON 7.5mm CPD PLY

R3.0 BATTS INSULATION TO

EXTERNAL WALLS

CLEAR FINISHED 7.5mm
PLY INTERNAL LININGS

DETAIL

1TFTPICAL WINDOW JAMB

COLOUR COATED

ZINCALUME FLASHING

| ———R3.0 BATTS INSULATION TO

<) EXTERNAL WALLS

LININGS

IgPICAL EAVES DETAIL

COLOUR COATED PROFILED
CLADDING ON 7.5mm CPD PLY ON

150x50 FRAMING \

K——CLEAR FINISHED 7.5mm PLY INTERNAL

BITUMEN IMPREGNATED FOAM PACKE

DOUBLE GLAZED THERMALLY BROKEN
ALUMINIUM WINDOW POWDER COATED
IN SELECTED COLOUR IN Ex 30°H3
TREATED TIMBER REVEAL

5

R3.6 BATTS INSULATION TO ROOF

150x50 PURLINS FIXED TO TRUSSES
WITH JOIST HANGERS

40x12 FINGER JOINTED PINE TRIM

CLEAR FINISHED 7.5mm PLY INTERNAL
LININGS

<

DETAIL

VERGE DETAIL
1.5

75mm THICK INSULATED POLYSTYRENE

= — EFNLCOAULTJ;E/}TL?SHWG
R3.0 BATTS INSULATION TO
EXTERNAL WALLS 3
~—— BITUMEN IMPREGNATED
CLEAR FINISHED 7.5mm FOAM PACKER
PLY INTERNAL LININGS
K COLOUR COATED PROFILED
CLADDING ON 7.5mm CPD PLY

COLOUR COATED ZINCALUME FLASHING

DETAIL

1T§PICAL WINDOW SILL

PACKER

COLOUR COATED PROFILED

SEALANT

b,

A005

DOOR FRAME CONSTRUCTED
OF 80x80x5 STEEL ANGLES.
REFER TO SPECIFICATION
FOR PAINTING DETAILS

— 30x30x1.6 EXTRUDED
ALUMINIUM ANGLE FIXED TO
DOOR PANEL POWDER
COATED IN SELECTED
COLOUR

75mm THICK INSULATED
POLYSTYRENE SANDWHICH
PANEL INSERTED INTO DOOR

Warburton Team Architecture Ltd
184 High Street, Dunedin

PO Box 1426, Dunedin

Telephone 03 474 1825,
Facsimile 03 479 2311

Email warbarch@xtra.co.nz

ALUMINIUM SEAL SCREW FIXED BITUMEN IMPREGNATED DOOR HANDLES TO BE
AROUND OPENING
FOAM PACKER SEALANT > FABRICATED FROM
DOOR FRAME CONSTRUCTED 50x10 MS FLAT HOT
OF 80x80x5 STEEL ANGLES. DIP'GALV. AFTER
REFER TO SPECIFICATION FOR S FABRICATION
PAINTING DETAILS jl 3
K > SEALANT SEALANT
30x30x1.6 EXTRUDED N \
ALUMINIUM ANGLE FIXED TO \ > 2 [fek ~
DOOR PANEL POWDER ‘\ COLOUR COATED ZINCALUME
EgLAJSRD IN SELECTED ! FLASHING RAVEN RPL6 ANODISED 2
ALUMINIUM SEAL SCREW
FIXED AROUND OPENING ———
75mm THICK INSULATED r | = =
POLYSTYRENE SANDWHICH N \
PANEL INSERTED INTO DOOR SUPPORT FRAMED FABRICATE LATCH OUT OF T 25mm INTERNAL ¢ PIPE
DOOR FRAME FABRICATED FROM 50x10mm FLAT WELDED TO 4 WELDED TO CLEAT ON
125x75x8 STEEL ANGLES 80x110x10mm THICK PLATE. DOOR FRAME. CLEAT
FIXED TO SOLID TIMBER FIX TO FRAMING WITH 4/M8 45x8mm THICK DRILLED FOR.L/M6 BOLT
BLOCKING ALONG HEAD AND COACH SCREWS ROUND FIXINGS THRU DOOR
JAMBS WITH M8 COACH WASHERS
SCREWS @200 crs.
NEOPRENE WASHERS UNDER
24tmm ¢ MS ROUND WELDED TO O
DETAIL SCREW HEADS A
ENTRY DOOR HEAD SQUARED OFF AT INTERNAL END TO
1.5 LOCK INTO INSIDE HANDLE THEN D E T A I L
THREADED TO TAKE LOCKING NUT AND ENTRY DOOR JAMB
WASHER 1:5
FRAME
Warburton Team Architecture Ltd. and
COPYRIGH T© Montgomery Watson New Zealand Ltd.
XREFS :
Name Date
RVEES WARBURTON
DESIGNED WTA JAN 200
DRAWN PT FEB 200 TEAM RCHITECTURE
CHECKED
REV AMENDMENTS DATE | INTIAL] APPROVED

BITUMEN IMPREGNATED FOAM

CLADDING ON 7.5mm CPD PLY

FABRICATED DOOR HINGES.
REFER TO DETAILS ON SHEET

SANDWHICH PANEL INSERTED INTO
DOOR FRAME

30x30x1.6 EXTRUDED ALUMINIUM ANGLE
FIXED TO DOOR PANEL POWDER COATED IN
SELECTED COLOUR

3mm THICK ALUMINIUM CHECKER PLATE
PANELS TO ENTRY FLOOR

SCREW FIX DRAINING TRAY/E
AROUND EDGES @100 crs.

R3.0 BATTS INSULATION TO WALLS

AN

DETAIL

ISOMETRIC VIEW OF DOOR LATCH
NTS

COLOUR COATED PROFILED
CLADDING ON 7.5mm CPD PLY ON

150x50 FRAMING \

BITUMEN IMPREGNATED FOAM PACKER
TO ALL CLADDING JOINTS AND
FLASHINGS —_—

| N

N

CLEAR FINISHED 7.5mm PLY INTERNAL
LININGS

R3.0 BATTS INSULATION TO WALLS

85x12 BEVELLED FINGER JOINTED PINE
SKIRTING. CLEAR FINISHED

EX 50mm THICK MACROCARPA
T&G FLOORING ON 200x50 JOISTS
@400 crs

COLOUR COATED ZINCALUME
FLASHING T0 BOTTOM OF CLADDING

A%

M16 HOLD.DOWN BOLTS. REFER TO
STRUCTURAL DRAWINGS

DOOR FRAME CONSTRUCTED OF 80x80x5 STEEL ANGLES.
REFER TO SPECIFICATION FOR PAINTING DETAILS

RAVEN RPL46 ANODISED ALUMINIUM
SEAL SCREW FIXED AROUND OPENING

| ——SILL OF STEEL DOOR FIXING FRAME TO
BE EX 125x75x8mm ANGLE CUT DOWN
TO SUIT TIMBER PACKING

COLOUR COATED ZINCALUME FLASHING

FINISH FLOORING 150mm SHORT AND FRAME 4/

OUT WITH 150x50 PACKING TO SUIT.
FABRICATE DRIP TRAY OUT OF 6mm MS SHEET.
HOT DIP GALV. AFTER FABRICATION. SCREW
FIX TO FLOORING THRU LIP AND THRU
UPSTAND TO TIMBER PACKING.

PROVIDE 2/ 25mm ¢ DRAINAGE PIPES. LENGTH
TO SUIT. TAPERED OUTLETS AS SHOWN TO
CREATE VENTURI EFFECT.

NOTE

DRAINING TRAY ONLY TO MAIN ENTRY DOOR

WITH BTUMEN IMPREGNATED FOAM

PACKER

=

EX 40mm THICK H3 TREADED
PINUS RADIATA DECKING

200x50 DECK JOISTS @400 crs FIXED
TO TIMBER STRINGER WITH JOIST
HANGERS

200x50 STRINGER FIXED T0O 300 PFC
WITH M12 BOLTS @800 crs.

\
/

DETAIL

1EQTRY DOOR SILL

@ MmwH

MONTGOMERY WATSON HARZA

/
]
f o
LA

MUELLER HUT REPLACEMENT,
DEPARTMENT OF CONSERVATION

R3.6 BATTS INSULATION TO
FLOOR

4.5mm HARDIFLEX FIXED TO
UNDERSIDE OF FLOOR JOISTS.
PACK WHERE NECESSARY FOR
FIXINGS

DETAIL

1TgPICAL WALL/ FLOOR JUNCTION

150 PFC STRUCT. REFER TO
STRUCTURAL DRAWINGS —

150 PFC STRUCT. REFER TO
STRUCTURAL DRAWINGS —

MT

Tk

ﬁ:,::*,:j

1BéLUSTRADE DETAIL

1000mm FROM DECK LEVEL

100x50 TOP RAIL FIXED TO 150

PFC WITH 2/M12 BOLTS

75x50 BALUSTERS @1.5m crs
FIXED TO TOP AND BOTTOM
RAILS

500mm FROM DECK LEVEL

W 100x50 MID RAIL FIXED TO 150
‘ / PFC WITH 2/M12 BOLTS
] VAN
N

EX 40mm THICK H3 TREADED
PINUS RADIATA DECKING

I

200x50 DECK JOISTS @400 crs FIXED
TO TIMBER STRINGER WITH JOIST
HANGERS

200x50 STRINGER FIXED TO 200 PFC
WITH M12 BOLTS @800 crs.

DETAIL

?éLUSTRADE/ DECK DETAIL

=" AS BUILT
“09=19.09.2003

CONSTRUCTION DETAILS

Job No.

0135

Sheet No.

AQQ

Rev.



IF IN DOUBT, ASK

200 DO NOT SCALE -

150

100

60

2000 2000 2000 3150
| ‘ | el _200PFC_ _ _ real 200 PEC fael 200 PFC gy _ 200PFC_ _ _ L2150 PFG 8 7 6 5 L 3 Y 1
P o758 ANGLE == R T S ANGLE |
g  (ROSS g o)L BRACE 3150 2000 3000 3000 3000 3000 2000 2000
& & i .
‘B 2 2 2 " 2 2 Sn 2 S @2 o
2 g, 2 o < 8|, 2z 8|, Mz g, & 3
\ \5002/ &) 2|S & 2s & 2|2 P T R 1= 2|5 = >N L 3300 6000 3000 6000
I I T AP I B T 2l = 2|3 N
= NS = M = SIS 2 NE IR & /13
o o Ne o S S - m | | | | | | |
DIRECT ROCK = 300PFC = =ha a0 prc S 5002 \ 5002/
[t - H ! R - () (] ()
N - - - T s = . - TSz 2 2 2
1A 7 PrC ANGLE BRACE i Foes0 < il il 5 il il 5 il 5 il il il
< ’ | N % % %
N s
/133 Fdp.000 gu: ) 200 PFC ) 300 PFC 300 PFC 300 PFC 300 PFC
() L
_ | \.so02/ 200x50 JOISTS 200x50 JOISTS 200x50 JOISTS 2 <Z‘§ e X [] T 1] [T1]
I=} S| w
" @400 crs @400 crs g @400 crs g a5 2&1 S 5 5 | 5 | 5 | | 5 | > | | > |
o Z Z R\ = = = = =
< w " a Y z\ﬁ w w w) w1 W
% 3 3 3 | i i i i e
(&) o
] o o wn = = [ [ ~ | a a a o a
& & & = | S 200 PFC 3 2 3 2 2
T 2 s s T g T 2 7@, — .. A - - - — - -
= = ~ o = ~ 7690 & > BEDROCK
W LN Slun ] 20 N4 ‘
> o 200x50 J0ISTS o|E ol e Q /100
EL C_ﬂl 3 § 2 v W
= 3 @400 crs A& 4
S 200x50 JOISTS 200x50 JOISTS 200x50 JOISTS & T — v 1]
m
@400 crs @400 crs @400 crs m . = GAS/ WATER TANK
DIRECT ROCK w a S FRAME
FEE < g - - | BEDROCK ‘ |
Sl 50 PFC ANGLE BRACE {l150 PFC ANGLE BRACE H iy D APPRIXIMATE GROUND LINE GNLY
T & g 300 PFC I 200PFC = o BEDROCK
100.270 a4 i e
9912 98.460 e
‘B $97.210 S
Aé?* M= ——
W 99.06 | L 200PFC 5 7[_ )
75x75x5 BRACE TO
FRAME
8000 150 PFC STRUTS ON
1 STRUCTURAL SETOUT PLAN 2$;ETSONGRIDLINES6&7ARE S ELEVATION ON GRID A
1:100 ADJUSTABLE TO SUIT ROCK FIXINGS 2
SHADED AREA SHOWNING APPROXIMATE LOCATION OF ROCK BELOW. JOISTS SPANNING BETWEEN GRIDS 750
5 & 8 ARE TO BE DOUBLED IF SPAN
EXCEEDS 3.0m
2000 2000 3000 3000 3000 3000 2000 3150 i L 3050 3600 3600
’ ’ i
6000 3000 6000 3300 ) D | % 150x90x10 CLEATS @400 crs FW | (6 |
T0 250 PFC BEARERS. DRILL FOR \ 5002/
| | | | | | | - 2/M12 BOLTS
=3
S S S ) 300 PRC 300 PFC
il i il b7 i % i il % i [1 & 200x50 JOIST @400 crs >§ N I I I I I N N R N | ‘
300 PFC 300 PFC 300 PFC 300 PFC ( L) e —— T ——————————————— i ) 250 PFC_| [ ]
= /5
| | L\J |—\ L\J \J \|\—\J M12 GALV. = ﬂ W
< = T Yo = THREADED ROD % = > .
= = = o o @
> o} v — — —
=3 =3 o Asuoz/ 2 2 2
S O P & & o &
BEDROCK i i & = = . 3 3| A0ss B 3
| 3 3 / e 5 5 - SMLAR s PEEE PACKER AS -
4 S S 0 11 PER@ :
& T T i ;
m 2 2 3 $002 S002 .
BEDROCK
NOTE APPROXIMATE GROUND LINE ONLY \
NOTE APPROXIMATE GROUND LINE ONLY
| | \V4

20 30 40 50
dootiolinbe bl

10

ORIGINAL SIZE AT\

NOTES
ALL PLYWOOD BRACING TO BE FIXED IN ACCORDANCE WITH CP2.

ELEVATION ON GRID &
ELEVATION ON GRID C L

3 1:.50 ALL BOLTS TO BE GRADE 8.8 GALVANISED UNLESS IN CONTACT WITH
TANALISED TIMBER. IN WHICH CASE ARE TO BE STAINLESS STEEL

ALL BASE PLATE FIXING CLEATS ARE TO BE HOT DIP GALV. AFTER
FABRICATION.

REFER TO SPECIFCATION FOR DETAILS ON CONSTRUCTION PROCESS.

ALL STEEL THAT HAS BEEN SITE CUT QR DRILLED IS TO BE TOUCHED UP
AS PER PAINT SPEC.

3050 3600 3600 ALL WELDS ARE TO BE 6mm FW UNLESS OTHERWISE NOTED.
3050 3600 3600 y ’ ’ ’
] ] SIMILAR 1
T0 /6
. | 150x90x10 CLEATS @400 crs FW | Y 6 | +— Ty 150x90x10 CLEATS @400 crs FW 6
T0 250 PFC BEARERS. DRILL FOR 15002/ TO 250 PFC BEARERS. DRILL FOR sz
2/M12 BOLTS - 2/M12 BOLTS
o~
(=3
300 PFC\ 300 PEC - 00 PFC— | ‘ 300 PFC
200x50 JOIST @400 crs 1 | 1 1 1 1 1 | 1 1 1 1 & 111 Y 200x50 JOIST @400 crs >ﬂ_\| [ 1 1 1 1 | L1 1 1 1 1 111
e —— S —— it 250 PFC | | e —— S — i 1 250 PFC (|
= T ‘
|
M12 GALV. > M12 THREADED ROD

THREADED ROD

7.

150 PFC STRUT /]

PACKER BETWEEN
BRACES AS DETAILED

150 PFC STRUT
150 PFC STRUT

150 PFC STRUT
150 PFC STRUT

NOTE APPROXIMATE GROUND LINE ONLY

OTE APPROXIMATE GROUND LINE ONLY

5 E1_|5_0EVATI0N ON GRID 5

ELEVATION ON GRID 6

6 1:50

Status

@© Warburton Team Architecture Ltd. and
COPYRIGHT Status

Montgomery Watson New Zealand Ltd.

AS BUILT

XREFS :

MULLER HUT REPLACEMENT, MT COOK

Warburton Team Architecture Ltd Date

Stamp

Name

SURVEYED

DESIGNED

MWH

DRAWN

PT

CHECKED

AMENDMENTS

APPROVED

WARBURTON

TEAM

RCHITECTURE

184 High Street, Dunedin
PO Box 1426, Dunedin
Telephone 03 474 1825,
Facsimile 03 479 2311
Email warbarch@xtra.co.nz

@ MmwH

MONTGOMERY WATSON HARZA

DEPARTMENT OF CONSERVATION

19.09.2003

SCALES : 1:100, 1:50
CAD REF :

STRUCTURAL SETOUT PLAN & GRID ELEVATIONS

Job No.

0133

Sheet No.

S001

Rev.



	Drawing A001 Plan Architectural.pdf
	Drawing A002 Sections Elevations Architectural.pdf
	Drawing A003 Deck Details.pdf
	Drawing A004 Construction details Architectural.pdf
	Drawing S001 Structure set out.pdf



